

Journal of the Faculties of Education

A Refereed Biannually Research Journal – Issued by
Faculties of Education – University of Aden

Vol. (15). No (1) P. (1) (2) January-June 2017

On q-Analogue of Two-index and Two-Variable Generalized Hermite Polynomials

Fadhle B.F.Mohsen and Fadhil S.N. Alsarahi

Department of Mathematics, Faculty of Education, Aden University,
Aden, Yemen.

Abstract

In this paper, we introduce the q-analogue of two-index and two-variable generalized Hermite polynomials. The recurrence relations and Rodrigue's formula for this polynomials are derived.

Keywords: q-analogue of two-index and two-variable generalized Hermite polynomials, recurrence relations, Rodrigue's formula.

1. Introduction

In this section, we will give a summary of the mathematical notations and definitions required in this paper for the convenience of the reader.

$$\text{For } 0 < q < 1, \quad [n]_q = \frac{1-q^n}{1-q}, \quad [n]_1 = [n],$$

$$(1.1)$$

$$[n]_q! = [n]_q [n-1]_q \dots [1]_q, \quad n \in N \cup \{0\}, \quad [0]_q! = 1.$$

For $0 \leq k \leq n$ and zero otherwise the binomial coefficient is defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \frac{[n]_q!}{[n-k]_q! [k]_q!}, \quad (1.2)$$

$$\text{Or} \quad \begin{bmatrix} n \\ k \end{bmatrix}_q = \frac{(q; q)_n}{(q; q)_{n-k} (q; q)_k},$$

where $(q; q)_n$ is the q-shifted factorial defined as

$$(q; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad n \in N \text{ with } (a; q)_0 = 1$$

The q-exponential function $e_q(x)$ is defined by

$$e_q(x) = \sum_{n=0}^{\infty} \frac{x^n}{[n]_q!} = \sum_{n=0}^{\infty} \frac{x^n}{(q; q)_n}, \quad e_1(x) = e(x), \quad (1.3)$$

and this function $e_q(x)$ has the following properties:

$$\frac{1}{e_q(x)} = e_{-q}(-x); \quad (1.4)$$

$$e_q(qx) = (1 + (q-1)x) e_q(x). \quad (1.5)$$

The q-derivative with index α is defined by [7]

$$D_\alpha f(x) = \frac{f(q^\alpha x) - f(x)}{(q^\alpha - 1)x}, \quad D_1 = D \quad (1.6)$$

which for q-derivative of the pair of functions is valid:

$$D(\lambda a(x) + \mu b(x)) = \lambda Da(x) + \mu Db(x), \quad (1.7)$$

$$D(a(x).b(x)) = a(qx)Db(x) + Da(x)b(x), \quad (1.8)$$

$$D\left(\frac{a(x)}{b(x)}\right) = \frac{Da(x)b(x) - a(x)Db(x)}{b(x)b(qx)}. \quad (1.9)$$

Also, the q-analogue of $(x \pm y)^n$ is given by [6]

$$(x \pm y)^n = (x \pm y)_n = x^n \left(\mp \frac{y}{x}; q \right)_n = x^n \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q q^{k(k-1)/2} \left(\pm \frac{y}{x} \right)^k. \quad (1.10)$$

2. q-analogue of two-index and two-variable generalized Hermite polynomials

Shrivastava [8] introduced and studied the generalization form of Hermite polynomials $H_{n,m}(x, y)$ which defined as

$$\exp[2x(t+h) - (y+1)(t+h)^2] = \sum_{n,m=0}^{\infty} H_{n,m}(x, y) \frac{t^n h^m}{n!m!}.$$

Here, we introduce the generalized q-analogue form of the above polynomials, denoted by $H_{n,m}^{(k)}(x, y; q)$.

Let $0 < q < 1$, for $n, m = 0, 1, 2, \dots$ and k a positive integer, we defined the q-analogue generalized Hermite polynomials of two-index and two-variable by:

$$F(x, y, t, h; q) = \frac{\exp_q(2x(t+h))}{\exp_q(qy(t+h)^k)} = \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m. \quad (2.1)$$

Now, expanding the generating function (2.1) in series, we get

$$\begin{aligned} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m &= \exp_q(2x(t+h)) \exp_{-q}(-qy(t+h)^k) \\ &= \sum_{n=0}^{\infty} \frac{(2x)^n (t+h)^n}{[n]_q!} \sum_{r=0}^{\infty} \frac{(-qy)^r (t+h)^{kr}}{[r]_{-q}!} \end{aligned}$$

by using relation (1.10), we obtain

$$\begin{aligned} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m &= \sum_{n=0}^{\infty} \frac{(2x)^n}{[n]_q!} \sum_{m=0}^{\infty} \begin{bmatrix} n \\ m \end{bmatrix}_q q^{\binom{m}{2}} t^{n-m} h^m \sum_{r=0}^{\infty} \frac{(-qy)^r}{[r]_{-q}!} \sum_{s=0}^{\infty} \begin{bmatrix} kr \\ s \end{bmatrix}_{-q} q^{\binom{s}{2}} t^{kr-s} h^s \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n q^{\binom{m}{2}} \frac{(2x)^n t^{n-m} h^m}{[n-m]_q! [m]_q!} \sum_{r=0}^{\infty} \sum_{s=0}^{kr} q^{\binom{s}{2}} \frac{(-1)^r [kr]_{-q}! (qy)^r t^{kr-s} h^s}{[r]_{-q}! [kr-s]_{-q}! [s]_{-q}!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n q^{\binom{m}{2}} \frac{(2x)^{n+m} t^n h^m}{[n]_q! [m]_q!} \sum_{r=0}^{\infty} \sum_{s=0}^r q^{\binom{ks}{2}} \frac{(-1)^r [kr]_{-q}! (qy)^r t^{kr-ks} h^{ks}}{[r]_{-q}! [kr-ks]_{-q}! [ks]_{-q}!} \\ &= \sum_{n,m=0}^{\infty} \sum_{r=0}^{\lfloor n/k \rfloor} \sum_{s=0}^{\lfloor m/k \rfloor} q^{\binom{m}{2} + \binom{ks}{2}} \frac{(-1)^{r+s} [kr+ks]_{-q}! (2x)^{n+m-kr-ks} (qy)^{r+s} t^n h^m}{[n-kr]_q! [m-ks]_q! [r+s]_{-q}! [kr]_{-q}! [ks]_{-q}!} \end{aligned}$$

Equating the coefficients of $t^n h^m$ in both sides, we obtain an explicit representation for $H_{n,m}^{(k)}(x, y; q)$ in the form

$$H_{n,m}^{(k)}(x, y; q) = \sum_{r=0}^{\lfloor n/k \rfloor} \sum_{s=0}^{\lfloor m/k \rfloor} q^{\binom{m}{2} + \binom{ks}{2}} \frac{(-1)^{r+s} [kr+ks]_{-q}! (2x)^{n+m-kr-ks} (qy)^{r+s}}{[n-kr]_q! [m-ks]_q! [r+s]_{-q}! [kr]_{-q}! [ks]_{-q}!}. \quad (2.2)$$

3. Recurrence relations and Rodrigue's formula

Theorem 3.1

The q-analogue of two-index and two-variable generalized Hermite polynomials $H_{n,m}^{(k)}(x, y; q)$ satisfy the following relations:

$$\frac{\partial^s}{\partial x^s} H_{n,m}^{(k)}(x, y; q) = 2^s \sum_{r=0}^{\lfloor s \rfloor} q^{\binom{r}{2}} \frac{[s]_q! H_{n+r-s, m-r}^{(k)}(x, y; q)}{[s-r]_q! [r]_q!}, \quad (3.1)$$

and

$$\frac{\partial^s}{\partial y^s} H_{n,m}^{(k)}(x, y; q) = (-1)^s q^s \sum_{r=0}^{\lfloor sk \rfloor} q^{\binom{r}{2}} \frac{[sk]_q! H_{n+r-sk, m-r}^{(k)}(x, y; q)}{[sk-r]_q! [r]_q!}. \quad (3.2)$$

Proof.

Differentiating (2.1) with respect to x yields

$$\begin{aligned} \sum_{n,m=0}^{\infty} \frac{\partial}{\partial x} H_{n,m}^{(k)}(x, y; q) t^n h^m &= 2(t+h) \frac{\exp_q(2x(t+h))}{\exp_q(qy(t+h)^k)} \\ &= 2 \sum_{r=0}^1 \frac{t^{1-r} h^r}{[1-r]_q! [r]_q!} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m \\ &= 2 \sum_{n,m=0}^{\infty} \sum_{r=0}^1 \frac{H_{n+r-1,m-r}^{(k)}(x, y; q)}{[1-r]_q! [r]_q!} t^n h^m \end{aligned}$$

On equating the coefficients of $t^n h^m$ on both sides of the above equation, we obtain

$$\frac{\partial}{\partial x} H_{n,m}^{(k)}(x, y; q) = 2 \sum_{r=0}^1 q^{\binom{r}{2}} \frac{H_{n+r-1,m-r}^{(k)}(x, y; q)}{[1-r]_q! [r]_q!}, \quad (3.3)$$

thus

$$\frac{\partial^2}{\partial x^2} H_{n,m}^{(k)}(x, y; q) = 2^2 \sum_{r=0}^{[2]} q^{\binom{r}{2}} \frac{[2]_q! H_{n+r-2,m-r}^{(k)}(x, y; q)}{[2-r]_q! [r]_q!}, \quad (3.4)$$

by continuing this process, we get the required relation (3.1).

Again, differentiating (2.1) with respect to y yields

$$\begin{aligned} \sum_{n,m=0}^{\infty} \frac{\partial}{\partial y} H_{n,m}^{(k)}(x, y; q) t^n h^m &= -q(t+h)^k \frac{\exp_q(2x(t+h))}{\exp_q(qy(t+h)^k)} \\ &= -q \sum_{r=0}^{[k]} q^{\binom{r}{2}} \frac{[k]_q! t^{k-r} h^r}{[k-r]_q! [r]_q!} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m \\ &= -q \sum_{n,m=0}^{\infty} \sum_{r=0}^{[k]} q^{\binom{r}{2}} \frac{[k]_q! H_{n+r-k,m-r}^{(k)}(x, y; q)}{[k-r]_q! [r]_q!} t^n h^m \end{aligned}$$

On equating the coefficients of $t^n h^m$ on both sides of the above equation, we get

$$\frac{\partial}{\partial y} H_{n,m}^{(k)}(x, y; q) = -q \sum_{r=0}^{[k]} q^{\binom{r}{2}} \frac{[k]_q! H_{n+r-k,m-r}^{(k)}(x, y; q)}{[k-r]_q! [r]_q!}, \quad (3.5)$$

thus

$$\frac{\partial^2}{\partial y^2} H_{n,m}^{(k)}(x, y; q) = q^2 \sum_{r=0}^{[2k]} q^{\binom{r}{2}} \frac{[2k]_q! H_{n+r-2k, m-r}^{(k)}(x, y; q)}{[2k-r]_q! [r]_q!}, \quad (3.6)$$

by continuing this process, we get the required result (3.2).

Theorem 3.2

The polynomials sequence $\{H_{n,m}^{(k)}(x, y; q)\}_{n,m=0}^{\infty}$ satisfies the next recurrence relation

$$\begin{aligned} [n+1]_q H_{n+1,m}^{(k)}(x, y; q) - (1-q)qy \sum_{r=0}^{[k]} q^{\binom{r}{2}} \frac{[n-k+r+1]_q [k]_q! H_{n-k+r+1, m-r}^{(k)}(x, y; q)}{[k-r]_q! [r]_q!} \\ = 2x H_{n,m}^{(k)}(x, y; q) - kqy \sum_{r=0}^{[k-1]} q^{\binom{r}{2}} \frac{[k-1]_q! H_{n-k+r+1, m-r}^{(k)}(x, y; q)}{[k-r-1]_q! [r]_q!} \end{aligned} \quad (3.7)$$

and

$$\begin{aligned} [m+1]_q H_{n,m+1}^{(k)}(x, y; q) - (1-q)qy \sum_{r=0}^{[k]} q^{\binom{r}{2}} \frac{[m-r+1]_q [k]_q! H_{n-k+r, m-r}^{(k)}(x, y; q)}{[k-r]_q! [r]_q!} \\ = 2x H_{n,m}^{(k)}(x, y; q) - kqy \sum_{r=0}^{[k-1]} q^{\binom{r}{2}} \frac{[k-1]_q! H_{n-k+r, m-r}^{(k)}(x, y; q)}{[k-r-1]_q! [r]_q!} \end{aligned} \quad (3.8)$$

Proof.

Differentiating (2.1) with respect to t and using (1.9), we find

$$\begin{aligned} \sum_{n,m=0}^{\infty} \frac{\partial}{\partial t} H_{n,m}^{(k)}(x, y; q) t^n h^m \\ = \frac{2x \exp_q(2x(t+h)) \exp_q(qy(t+h)^k) - kqy(t+h)^{k-1} \exp_q(2x(t+h)) \exp_q(qy(t+h)^k)}{\exp_q(qy(t+h)^k) \exp_q(qy(t+h)^k)} \\ \sum_{n,m=0}^{\infty} [n]_q H_{n,m}^{(k)}(x, y; q) t^{n-1} h^m = \frac{(2x - kqy(t+h)^{k-1}) \exp_q(2x(t+h))}{\exp_q(qy(t+h)^k)} \end{aligned}$$

By using the relation (1.5), we get

$$\sum_{n,m=0}^{\infty} [n]_q H_{n,m}^{(k)}(x, y; q) t^{n-1} h^m = \frac{(2x - kqy(t+h)^{k-1}) \exp_q(2x(t+h))}{(1 - (1-q)qy(t+h)^k) \exp_q(qy(t+h)^k)}$$

$$\begin{aligned}
 & \sum_{n,m=0}^{\infty} [n]_q H_{n,m}^{(k)}(x, y; q) t^{n-1} h^m - (1-q) q y \sum_{r=0}^k q^{\binom{r}{2}} \frac{[k]_q! t^{k-r} h^r}{[k-r]_q! [r]_q!} \sum_{n,m=0}^{\infty} [n]_q H_{n,m}^{(k)}(x, y; q) t^{n-1} h^m \\
 &= 2x \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m - k q y \sum_{r=0}^{k-1} q^{\binom{r}{2}} \frac{[k-1]_q! t^{k-r-1} h^r}{[k-r-1]_q! [r]_q!} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m \\
 & \sum_{n,m=0}^{\infty} [n+1]_q H_{n+1,m}^{(k)}(x, y; q) t^n h^m - (1-q) q y \sum_{n,m=0}^{\infty} \sum_{r=0}^k q^{\binom{r}{2}} \frac{[n-k+r+1]_q! [k]_q! H_{n-k+r+1,m-r}^{(k)}(x, y; q)}{[k-r]_q! [r]_q!} t^n h^m \\
 &= 2x \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m - k q y \sum_{n,m=0}^{\infty} \sum_{r=0}^{k-1} q^{\binom{r}{2}} \frac{(q; q)_{k-1} H_{n-k+r+1,m-r}^{(k)}(x, y; q)}{[k-r-1]_q! [r]_q!} t^n h^m
 \end{aligned}$$

Now, on equating the coefficients of $t^n h^m$ of the above equation, we get the required relation (3.7).

Again, differentiating (2.1) with respect to h , we find

$$\begin{aligned}
 & \sum_{n,m=0}^{\infty} \frac{\partial}{\partial h} H_{n,m}^{(k)}(x, y; q) t^n h^m \\
 &= \frac{2x \exp_q(2x(t+h)) \exp_q(qy(t+h)^k) - k q y (t+h)^{k-1} \exp_q(2x(t+h)) \exp_q(qy(t+h)^k)}{\exp_q(qy(t+h)^k) \exp_q(qy(t+h)^k)}
 \end{aligned}$$

$$\begin{aligned}
 & \sum_{n,m=0}^{\infty} [m]_q H_{n,m}^{(k)}(x, y; q) t^n h^{m-1} = \frac{(2x - k q y (t+h)^{k-1}) \exp_q(2x(t+h))}{(1 - (1-q) q y (t+h)^k) \exp_q(qy(t+h)^k)} \\
 & \sum_{n,m=0}^{\infty} [m+1]_q H_{n,m+1}^{(k)}(x, y; q) t^n h^m - (1-q) q y \sum_{n,m=0}^{\infty} \sum_{r=0}^k q^{\binom{r}{2}} \frac{[m-r+1]_q! [k]_q! H_{n-k+r,m-r}^{(k)}(x, y; q)}{[k-r]_q! [r]_q!} t^n h^m \\
 &= 2x \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m - k q y \sum_{n,m=0}^{\infty} \sum_{r=0}^{k-1} q^{\binom{r}{2}} \frac{[k-1]_q! H_{n-k+r,m-r}^{(k)}(x, y; q)}{[k-r-1]_q! [r]_q!} t^n h^m
 \end{aligned}$$

Now, on comparing of coefficients of $t^n h^m$ of the above equation, we get the required relation (3.8).

Theorem 3.3

For the polynomial $H_{n,m}^{(k)}(x, y; q)$ the following result holds true:

$$q^{\binom{m}{2}} \frac{(2x)^{n+m}}{[n]_q! [m]_q!} = \sum_{r=0}^{\lfloor n/k \rfloor} \sum_{s=0}^{\lfloor m/k \rfloor} q^{\binom{ks}{2}} \frac{[kr+ks]_q! (qy)^{r+s}}{[r+s]_q! [kr]_q! [ks]_q!} H_{n-kr,m-ks}^{(k)}(x, y; q). \quad (3.9)$$

Proof. Using generating function (2.1) and relation (1.3), we have

$$\exp_q(2x(t+h)) = \exp_q(qy(t+h)^k) \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x,y;q) t^n h^m$$

$$\sum_{n=0}^{\infty} \frac{(2x)^n (t+h)^n}{[n]_q!} = \sum_{r=0}^{\infty} \frac{(qy)^r (t+h)^{kr}}{[r]_q!} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x,y;q) t^n h^m,$$

by using the relation (1.10), we find

$$\begin{aligned} \sum_{n=0}^{\infty} \sum_{m=0}^{[n]} q^{\binom{m}{2}} \frac{(2x)^n t^{n-m} h^m}{[n-m]_q! [m]_q!} &= \sum_{r=0}^{\infty} \sum_{s=0}^{[kr]} q^{\binom{s}{2}} \frac{[kr]_q! (qy)^r t^{kr-s} h^s}{[r]_q! [kr-s]_q! [s]_q!} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x,y;q) t^n h^m \\ \sum_{n,m=0}^{\infty} q^{\binom{m}{2}} \frac{(2x)^{n+m} t^n h^m}{[n]_q! [m]_q!} &= \sum_{n,m=0}^{\infty} \sum_{r,s=0}^{\infty} q^{\binom{ks}{2}} \frac{[kr+ks]_q! (qy)^{r+s}}{[r+s]_q! [kr]_q! [ks]_q!} H_{n,m}^{(k)}(x,y;q) t^{n+kr} h^{m+ks} \\ &= \sum_{n,m=0}^{\infty} \sum_{r=0}^{[n/k]} \sum_{s=0}^{[m/k]} q^{\binom{ks}{2}} \frac{[kr+ks]_q! (qy)^{r+s}}{[r+s]_q! [kr]_q! [ks]_q!} H_{n-kr,m-ks}^{(k)}(x,y;q) t^n h^m, \end{aligned}$$

by equating the coefficients of $t^n h^m$ of the above equation, we obtain the required relation (3.9).

Theorem 3.4

Let $q \in (0,1)$, the q-analogue generalized Hermite polynomials $H_{n,m}^{(k)}(x,y;q)$ has the following Rodrigue's formula:

$$H_{n,m}^{(k)}(x,y;q) = \exp\left(-2^{-k} qy \frac{d^k}{dx^k}\right) q^{\binom{m}{2}} \frac{(2x)^{n+m}}{[n]_q! [m]_q!}.$$

(3.10)

Proof. Since,

$$\frac{\partial}{\partial x} \exp_q(2x(t+h)) = 2(t+h) \exp_q(2x(t+h))$$

and

$$\frac{\partial^2}{\partial x^2} \exp_q(2x(t+h)) = 2^2(t+h)^2 \exp_q(2x(t+h)),$$

by continuing this process, we get

$$\frac{\partial^k}{\partial x^k} \exp_q(2x(t+h)) = 2^k(t+h)^k \exp_q(2x(t+h))$$

$$\therefore \left[2^{-1} \frac{\partial}{\partial x} \right]^k \exp_q(2x(t+h)) = (t+h)^k \exp_q(2x(t+h)). \quad (3.11)$$

Thus,

$$\begin{aligned} \exp_q \left[-qy 2^{-k} \frac{d^k}{dx^k} \right] \exp_q(2x(t+h)) &= \sum_{m=0}^{\infty} \frac{(-1)^m (qy)^m}{[m]_q!} \left[2^{-1} \frac{d}{dx} \right]^{mk} \exp_q(2x(t+h)) \\ &= \sum_{m=0}^{\infty} \frac{(-1)^m (qy)^m}{[m]_q!} (t+h)^{mk} \exp_q(2x(t+h)) \\ &= \exp_q(2x(t+h) - qy(t+h)^k) \\ &= \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m \quad (3.12) \end{aligned}$$

Hence,

$$\begin{aligned} \sum_{n,m=0}^{\infty} H_{n,m}^{(k)}(x, y; q) t^n h^m &= \exp_q \left[-qy 2^{-k} \frac{d^k}{dx^k} \right] \sum_{n=0}^{\infty} \frac{(2x)^n (t+h)^n}{[n]_q!} \\ &= \exp_q \left[-qy 2^{-k} \frac{d^k}{dx^k} \right] \sum_{n=0}^{\infty} \sum_{m=0}^{[n]} q^{\binom{m}{2}} \frac{(2x)^n t^{n-m} h^m}{[n-m]_q! [m]_q!} \\ &= \exp_q \left[-qy 2^{-k} \frac{d^k}{dx^k} \right] \sum_{n,m=0}^{\infty} q^{\binom{m}{2}} \frac{(2x)^{n+m} t^n h^m}{[n]_q! [m]_q!} \end{aligned}$$

By equating the coefficients of $t^n h^m$, we find the required relation (3.10).

References

- 1- Chihara, T.S., 1978, An Introduction to Orthogonal Polynomials, Gordon and Breach, New York.
- 2- Cigler, J. , 1979, Operator methoden fur q-identitaten, Monatshefte fur Mathematik 88 87–105.
- 3- Cigler, J. , 1982, Elementare q-identitaten Publication de l'institute de recherche Mathematique avantee 23–57.
- 4- Djordjević G.B. and Milovanović, G.V., 1993, Polynomials related to the generalized Hermite polynomials Facta Univ. Niš, Ser. Math. Inform. 8 ,35–43.
- 5- Koekoek, R. and Swarttouw, R.F.,1998, The Askey-scheme of hypergeometric orthogonal polynomials and its q-analogue, Delft University of Technology, Report17.
- 6- Purohit, S.D. and Raina, R.K.,2010, Generalized q-Taylor's series and applications, General Mathematics Vol.18, No. 3, 19-28.
- 7- Rajkovic', P. and Marinkovic', S., 2001, On Q-analogies of generalized Hermite's polynomials , Presented at the IMC.
- 8- Shrivastava, H.S.P., Multiindex Multivariables Hermite polynomials, Math. of Comp. Appl. Vol.7(2), (2002), 139-149.

كثيرات حدود هرميت ذات دليلين ومتغيرين المعممة من النوع كيو

فضل بن فضل محسن و فضل صالح ناصر السرحي
قسم الرياضيات – كلية التربية – جامعة عدن - اليمن

الملخص

في هذه الورقة قدمنا كثيرات حدود هرميت ذات دليلين ومتغيرين المعممة من النوع كيو وأيضاً أثبتنا العلاقات التكرارية و صيغة رودريجس لها. الكلمات المفتاحية : كثيرات حدود هرميت ذات دليلين ومتغيرين المعممة من النوع كيو, العلاقات التكرارية , صيغة رودريجس.